MASEME 2 SO WERAIZHE S METREIRE R EE

sy | (REERAD %gigﬁ ggganm@/@%ﬁsa B4R (100m AT /@7 K3 S+ > (1200mEME) /O 2 430m L) /G F R 8 AR (1590m KAL) /
E e ; m¥) /DRI > 4 — (T60mBEILE) /@ LehE AR (730m Ik H) /@B BBt & (1040m L H) ]
(BHEA55 - OFEGMBR/QIBER/QPIRME RH) /@B EIER/OES CLEE)]
FRGERE | B - BH B (Boyke) 155:40 23 7 {8 (B ke) e A MR 3% R 1 22 T A 4 RABEDZMEE | 45 2 8% 8 Ba/n) 2 K R R i (Ba/ 2
o g B = # 8 (EERAR:RE] s |15 5O | 1AG HAG |HAD AR HAQ| (FEES1EHR (EEE<12HR
Aluze |mas|m|cs34 [ osio7 | ast Cs134 | Cs137 | &3 |HAG |[HAD HA® HAOQ|RE/E |HhA@ G| KE/E]Cs134 |Cs137 | HEfE [ Cs134 | Cs137 | EHEfE
8108 | & 23.42t 1 95 367 462| * 7 20 27
0. 80t| 3.4% | 2 21 89 110 7 43 166 209
- 14. 48t 1 * 8 19 27
BENE Al 30 121 187
JE138| B 40. 77t 1 41 150 191 = 6 14 20
1.56t| 3.8% [ 2 29 96 125( 7 53 220 273
sa148 | % 19. 96t 1 317 170 207\ 8 19 27
0.71t| 3.6% | 2 5 40 45] 7 19 121 140
TR158 K l\ ; i 1.6 3.4 10.064 ;0K
JR16E | & 1 * 0.05 { 0.06 { 0.04 { 0.06 { 0.07 ff 0.03 { 0.03 | 0.03
l\ 2 b1 0.05 { 0.05 §{ 0.05 { 0.07 | 0.07 | 0.03 { 0.03 | 0.03
Pl e .o EmBEEE | o] oEEE)| 2
3.07t) 3.1 & | GERIREmE)| 273 CAmBEE) | 007 | EREBEE)| 003




BEEME ZECHERAICET S AIEE

@HL : XU LI/ke

. A AN EA R
B 7E xR
7/10 (&) 7/11 (1) 7/13 (B) 7/14 (k)
REWE (BEEIE) 462 WERERLG L 191 207
F K (BFAIE) 21 217 20 217
K (BEAIE) 209 157 213 140

X AL 2747 R 15 B o NS RIRER O = HENEFLE



BAEYMEZSORERAICRET 2ZMBSTHREDAIEE
Bfi <450 —R) B

Ty AEE
WEE WS | Ho4/11/28 FR2ETEI6E K
(k)

ST
%5 35 50cm 0. 06 0.05
55 I

s 50cm 0.07 0.06
7K
Sz 50cm 0.07 0.04
AT
55 5 91 B 50cm 0. 07 0.06
aE

N 50cm 0. 06 0. 07
SETE N 50cm 0. 06 0.05
BB
s — 50cm 0.05 0.05
EhTELAREE | 50cm 0.05 0.05
BEE 50cm 0.08 0. 07
BENA S
5B 50cm 0.04 0.03

(B

TRIBSFHEEIZCDOUNTIX, ABEHBEERAN D 2 8/BIFZ 1B 1EEIEL., £TORICDOWLNTIE, 1
BEIZ1EAIET 5.



